
ID QTY REFPART DESCRIPTION

TORX

Tº 30
10 min

ALLEN

Nº  2,3

KTM 1290 SUPERADVENTURE R/S ‘17-

1 Person
FIX

Nº 11

5

3

2

4

1

4

4

4

4

1

TORNI-EM5---514

 ARNV0000000245

 TORNI-AI----520

 ARAND-EPDM--722

3662J

M5x13 special screw
Hexagonal lenght 11 (M5x8) BLACK

M5x1 nylon washer

M5x11 Ø11 ISO 7380 Allen screw

Ø4,5 x Ø11 x 2mm rubber washer

Beak

EASY

M O U N T I N G  I N S T R U C T I O N S

B E A K  E X T E N D E RREF 3662

https://www.motorcycleid.com/puig/


M O U N T I N G  I N S T R U C T I O N S

KTM 1290 SUPERADVENTURE R/S ‘17-

2

43

1
ASSEMBLY

ASSEMBLYASSEMBLY

DISASSEMBLY

5
5

5

1

43

2

1

5

2

2

2

2

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html

